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Part - I (General Intelligence)

Directions: In question nos. 1 - 10 : Select the

related letters/word/number from the given

alternatives.

1. SORROW : CRY : : MIRTH : ?

(A) JOY (B) LAUGHTER

(C) EROWN (D) WEEP

2. Love : Hate : : Proud : ?

(A) Sorrowful (B) Miserable

(C) Humble (D) Conceited

3. EXCUSE : CXEESU : : ERODES : ?

(A) OREESD (B) ORESED

(C) REOSDE (D) ERODSE

4. LJH : KKI : : CIA : ?

(A) DBB (B) BJB

(C) CBZ (D) BBZ

5. CFDB : XUWY : : GJHF : ?

(A) SPRT (B) TSQU

(C) TQSU (D) SPTR

6. BORE : 10 : : HOTEL : ?

(A) 12 (B) 15

(C) 18 (D) 30

7. 2 : 7 : : 6 : ?

(A) 40 (B) 39

(C) 50 (D) 72

8. 24 : 27 :: ? : 81

(A) 8 (B) 62

(C) 72 (D) 82

9. 47 : 65 :: 59 : ?

(A) 95 (B) 110

(C) 106 (D) 118

10. 83: 25 :: 39 : ?

(A) 25 (B) 16

(C) 49 (D) 36

11. Roy walks 2 km to East, then turns North-
West and walks 3 km. Then he turns South

and walks 5 km. Then again he turns West
and walks 2 km. Finally the turns North and
walks 6 km. In which direction, is he from
the starting point?

(A) South-West (B) South-East

(C) North-West (D) North-East

12. Four positions of a dice are given below.
Indentify the number at the bottom when
top's number is 6 :

(A) 5 (B) 1
(C) 3 (D) 4

13. If BOMBAY is coded as FSQFEC, which word

could be coded as QCWSVI?

(A) MANDYA (B) MANDAL

(C) MYSORE (D) MYSOER

14. If D = 4 and READ is coded as 7, then what

is HEAR coded as?

(A) 32 (B) 33

(C) 7 (D) 8

15. Some equations are solved on the basis of a

certain system. On the same basis, find out

the correct answer form amongest the four

alternatives for the unsolved equation:

72 × 96 = 6927, 58 × 87 = 7885

79 × 86 = ?

(A) 7689 (B) 8976

(C) 6897 (D) 6978

16. If '÷' means '×', '-' means '+' '×' means '-', '+'

means '÷' then what will be the value of the

following ?

20 + 4 × 6 - 5 ÷7

(A) 28 (B) 32

(C) 34 (D) 36

Directions: (Q. No. 17 - 20) Which one of the

given response would be a meaningful

order of the words ?

17. 1. Accident 2. Judge 3. Doctor

4. Lawyer 5. Police

(A) 1, 3, 4, 2, 5 (B) 1, 3, 5, 4, 2

(C) 1, 2, 3, 4, 5 (D) 1, 2, 5, 4, 3

18. 1. Fruit 2. Flower

3. Seed 4. Pollination

5. Bud

(A) 1, 2, 3, 4, 5 (B) 4, 2, 5, 3, 1

(C) 5, 2, 4, 3, 1 (D) 5, 2, 4, 1, 3

19. 1. Nation 2. Village

3. Taluk 4. Distict

5. State

(A) 2, 3, 4, 1, 5 (B) 1, 3, 5, 4, 2

(C) 2, 3, 4, 5, 1 (D) 1, 2, 3, 4, 5

20. 1. Index 2. Content

3. Title 4. Chapter

5. Introduction

(A) 2, 3, 4, 5, 1 (B) 3, 5, 2, 4, 1

(C) 5, 1, 4, 2, 3 (D) 3, 2, 5, 1, 4

21. Which one set of letters when sequentially

placed at the gaps in the given letter series

shall complete it?

___ b b m ___a m b ___m ___a ___b b

(A) m b a b m (B) a b m a b

(C) m a b a m (D) a m b b m
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Part - I (rdZ'kfDr ijh{k.k)

funsZ'k % iz'u la[;k 1 ls 10 rd esa] fn;s x;s fodYiks a es a ls lEcafèkr
v{kjksa@'kCn@la[;k dks pqfu,A

1. nq%[k : ph[k : : izlUUkrk : ?
(A) vkuUn (B) g¡lh
(C) vizlUurk (D) jksuk

2. izse : ?k.̀kk : : vgadkj : ?
(A) nq%[kh (B) vHkkxk
(C) fouhr (D) ?ke.Mh

3. EXCUSE : CXEESU : : ERODES : ?

(A) OREESD (B) ORESED

(C) REOSDE (D) ERODSE

4. LJH : KKI : : CIA : ?

(A) DBB (B) BJB

(C) CBZ (D) BBZ

5. CFDB : XUWY : : GJHF : ?

(A) SPRT (B) TSQU

(C) TQSU (D) SPTR

6. BORE : 10 : : HOTEL : ?

(A) 12 (B) 15

(C) 18 (D) 30

7. 2 : 7 : : 6 : ?

(A) 40 (B) 39

(C) 50 (D) 72

8. 24 : 27 : : ? : 81

(A) 8 (B) 62

(C) 72 (D) 82

9. 47 : 65 :: 59 : ?

(A) 95 (B) 110

(C) 106 (D) 118

10. 83: 25 :: 39 : ?

(A) 25 (B) 16

(C) 49 (D) 36

11. jkW; 2 fdú ehú iwoZ dh vksj pyrk gS] fiQj mÙkj&if'pe
dh vksj ?kwerk gS vkSj 3 fdú ehú pyrk gS] fiQj og nf{k.k
dh vksj ?kwerk gS vkSj 5 fdú ehú pyrk gSA og fiQj if'pe
dh vksj ?kwerk gS vkSj 2 fdú ehú pyrk gSA vUrr% og mÙkj
dh vksj ?kwerk gS vkSj 6 fdú ehú pyrk gSA og vkjfEHkd
LFky ls fdl fn'kk esa gS\
(A) nf{k.k&if'pe (B) nf{k.k&iwoZ
(C) mÙkj&if'pe (D) mÙkj&iwoZ

12. uhps nh x;h vkÑfr;ksa esa ,d ikls dh pkj LFkkiu fLFkfr;ksa
dks n'kkZ;k x;k gSA ;fn mQijh Hkkx dh la[;k 6 gS] rks fupys
Hkkx dh la[;k dks <w¡<sa%

(A) 5 (B) 1

(C) 3 (D) 4

13. ;fn BOMBAY  dks dwV Hkk"kk esa FSQFEC, fy[kk tk,]
rks fdl 'kCn dks dwV Hkk"kk esa QCWSVI fy[kk tk,xk\
(A) MANDYA (B) MANDAL

(C) MYSORE (D) MYSOER

14. ;fn D = 4 vkSj READ dks dwV Hkk"kk esa 7 fy[kk tkrk gS]
rks HEAR dks dwV Hkk"kk esa D;k fy[kk tk,xk\
(A) 32 (B) 33

(C) 7 (D) 8

15. uhps dqN lehdj.k fdlh fo'ks"k iz.kkyh ds vk/kj ij gy
fd, x, gSaA blh vk/kj ij gy u fd, x, lehdj.k dk
lgh mÙkj fn, gq, pkj fodYiks esa ls Nk¡Vsa%
72 × 96 = 6927, 58 × 87 = 7885

79 × 86 = ?

(A) 7689 (B) 8976

(C) 6897 (D) 6978

16. ;fn '÷' dk vFkZ '×' gS] '-' dk vFkZ '+' gS] '×' dk vFkZ '-' gS]
'+' dk vFkZ '÷' gS] rks fuEufyf[kr dk eku D;k gksxk\

20 + 4 × 6 - 5 ÷7

(A) 28 (B) 32

(C) 34 (D) 36

funsZ'k % (iz'u la[;k 17 vkSj 20) fuEu pkj fodYiksa esa ls
dkSu&lk fodYi uhps fn;s x;s 'kCnksa dk lkFkZd Øe
n'kkZ,xk\

17. 1. nq?kZVuk 2. U;k;k/h'k 3. MkWDVj
4. odhy 5. iqfyl
(A) 1, 3, 4, 2, 5 (B) 1, 3, 5, 4, 2

(C) 1, 2, 3, 4, 5 (D) 1, 2, 5, 4, 3

18. 1. iQy 2. iQwy
3. cht 4. ijkx.k
5. dyh
(A) 1, 2, 3, 4, 5 (B) 4, 2, 5, 3, 1

(C) 5, 2, 4, 3, 1 (D) 5, 2, 4, 1, 3

19. 1. jk"Vª 2. xk¡o
3. rkyqd 4. ftyk
5. jkT;
(A) 2, 3, 4, 1, 5 (B) 1, 3, 5, 4, 2

(C) 2, 3, 4, 5, 1 (D) 1, 2, 3, 4, 5

20. 1. vuqØef.kdk 2. fo"k;&lwph
3. 'kh"kZd 4. vè;k;
5. izLrkouk
(A) 2, 3, 4, 5, 1 (B) 3, 5, 2, 4, 1

(C) 5, 1, 4, 2, 3 (D) 3, 2, 5, 1, 4

21. v{kjksa dk dkSu&lk lewg [kkyh LFkkuksa ij Øeokj j[kus ls
nh xbZ J`̀a[kyk dks iwjk djsxk\
___ b b m ___a m b ___m ___a ___b b

(A) m b a b m (B) a b m a b

(C) m a b a m (D) a m b b m

22. 0-01 ls 0-1 fdruk xquk cM+k gS\
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22. How many times is 0.1 greater than 0.01?

(A) 100 times

(B) 10 times

(C) 1000 times

(D) 1 time

23. A cricle, square and equilateral triangle

have the same area. The correct increasing

order of the perimeter/cirumference will be

(A) triangle, square, circle

(B) triangle, circle, square

(C) circle, triangle, square

(D) circle, square, triangle

24. Anil is taller than Sunny who is shorter

than Baby. Anil is taller than Bose who is

shorter than Sunny. Baby is shorter than

Anil. Who is the shortest?

(A) Anil (B) Baby

(C) Sunny (D) Bose

Direction : In Question No. 25-26, which answer

figure will complete the pattern in the

question figure?

25. Question Figure :

Answer Figure :

(A) (B) (C) (D)

26. Question figure

Answer figure

(A) (B) (C) (D)

Direction : In Question No. 27-28, the given

quetion figure is embedded in which given

Answer Figure?

27. Question Figure :

Answer Figure :

(A) (B) (C) (D)

28. Question Figure :

Answer Figure :

(A) (B) (C) (D)

Directions : In Question No. 29, a piece of paper

is folded and punched as shown below in

the question figures. From the given

answer figures, indicate how it will appear

when opened?

29. Question Figure :

Answer Figure :

(A) (B) (C) (D)

30. Which of the answer figure is not made up

of only by the components of the key figure?

(A) (B) (C) (D)

31. From the following tow different

appearances of a die find out the number

which is opposite to '5'.

(A) 2 (B) 3

(C) 4 (D) 6

Direction : Q. No. 32 to 33 : A word is
represented by only one set of numbers as given
in any one of the alternatives. The sets of
numbers given in the alternatives are
represented by two classes of alphabets as in

the 2 matrices given below. The columns and
rows of matrix I are numbered form 0 to 4 and
that of matrix II from 5 to 9. A letter from these
matrices can be represented first by its row and
next column number. E.g. 'M' can be
represented by 14, 21 etc. 'O' can be represented

by 20, 32 etc. Similarly you have to identify
the set for the word given in each question.

     Matrix-I   Matrix-II
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(A) 100 xquk (B) 10 xquk
(C) 1000 xquk (D) 1 xquk

23. ,d òÙk] oxZ vkSj leHkqt f=kHkqt leku {ks=kiQy ds gSaA blds
ifjeki@ifjf/ dk lgh vkjksgh Øe D;k gksxk\
(A) f=kHkqt] oxZ] òÙk (B) f=kHkqt] ò̀̀Ùk] oxZ
(C) ò̀r] f=kHkqt] oxZ (D) òr] oxZ] f=kHkqt

24. vfuy dk dn lUuh ls yEck gS vkSj lUuh dk dn csch ls
NksVk gSA vfuy dk dn cksl ls yEck gS] ftldk dn lUuh
ls NksVk gSA csch dk dn vfuy ds dn ls NksVk gSA ;g crkb,
fd fdldk dn lcls NksVk gS\
(A) vfuy (B) csch (C) lUuh (D) cksl

funsZ'k% iz'u la- 25 — 26; esa] dkSu&lh mÙkj vkÑfr iz'u
vkÑfr ds izfr:i dks iwjk djsaxh\

25. iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

26. iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

funsZ'k% iz'u la- 27—28; esa] nh xbZ mÙkj vkÑfr;ksa esa ls ml
mÙkj vkÑfr dks pqfu, ftlesa iz'u vkÑfr fufgr gSA

27. iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

28. iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

funsZ'k% iz'u la- 29 esa] uhps iz'u vkÑfr;ksa esa fn[kk, vuqlkj
dkxT+k dks eksM+us] Nsn (iap) djus rFkk [kksyus ds ckn
og fdl mÙkj vkÑfr tSlk fn[kkbZ nsxk\

29. iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

30. dkSu&lh mÙkj vkÑfr dsoy nh xbZ vkÑfr ds ?kVdksa ls ugha

cuh gS\

(A) (B) (C) (D)

31. ik¡ls dh nks fuEu vkÑfr;ksa ls Kkr dhft, fd 5 ds lkeus
dkSu&lh la[;k gS\

(A) 2 (B) 3

(C) 4 (D) 6

funsZ'k% (iz- la- 32 & 33) ,d 'kCn dsoy ,d la[;k&lewg }kjk
n'kkZ;k x;k gS tSlk fd fdlh ,d fodYi esa fn;k x;k gSA
fodYiksa esa fn, x, la[;k&lewg dks v{kjksa ds nks oxksZ a }kjk
n'kkZ;k x;k gS tSlk fd uhps fn, x, nks eSfVªlst esa fn;k x;k
gS eSfVªDl&I ds LraHk vkSj iafDr dh la[;k 0 ls 4 nh xbZ gS vkSj
eSfVªDl&II dh 5 ls 9 A bu eSfVªlst ls ,d v{kj dks igys
mldh iafDr vkSj ckn esa LraHk la[;k }kjk n'kkZ;k tk ldrk gSA
mnkgj.k ds fy,] M ls 14, 21 vkfn }kjk n'kkZ;k tk ldrk gSA
O dks 20, 32 }kjk n'kkZ;k tk ldrk gSA blh izdkj] vkidks]
izR;sd iz'u esa fn, x, 'kCn ds lewg dks Kkr djuk gSA

     eSfDVªl-I     eSfDVªl-II
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0 1 2 3 4

0 F O M S R

1 S R F O M

2 O M S R F

3 R F O M S

4 M S R F O

5 6 7 8 9

5 A T D I P

6 I P A T D

7 T D I P A

8 P A T D I

9 D I P A T

32. F A R M

(A) 00, 98, 23, 34 (B) 12, 67, 04, 34

(C) 43, 67, 11, 33 (D) 24, 67, 11, 41

33. S O A P

(A) 10, 13, 67, 58 (B) 22, 01, 55, 66

(C) 34, 32, 79, 76 (D) 41, 44, 98, 99

Directions : Q No. 34 : A series of figures are

given  which can be grouped into classes. Select

the group into which the figures can be

classified from the given responses.

34.

  (1)          (2)          (3)           (4)           (5)

     (6)         (7)         (8)            (9)

(A) 789,243, 156 (B) 132, 457, 689

(C) 168, 347, 259 (D) 169, 347, 258

Directions: In question no. 35; two statements

are given followed by four conclusions I,

II, III and IV. You have to consider the two

statements to be true even if they seem

to be at variance from commonly known

facts. You have to decide which of the

given conclusions, if any, follow form the

given statements.

35. Statements :

(a) Some cats are dogs.

(b) Some doges are stones.

Conclusions :

I. No cat is stone.

II. All dogs are stone.

III. Some stones are cats.

IV. No dog is cat.

(A) Only I and III follow

(B) Only II and III follow

(C) Only, I, III and IV follow

(D) None follows

Directions: In question no. (36-37) find the

missing number (?).

36. 3 4 5

2 3 4

1 2 3

14 29 ?

(A) 50 (B) 30 (C) 40 (D) 32

37. 5 9 15

16 29 ?

49 89 147

(A) 45 (B) 48 (C) 51 (D) 54

38. Which one of the following diagrams
represents insects, flies and dogs?

(A) (B) (C) (D)

39. If a mirror is placed on the northern side,
then which of the answer figures is the

right image of the given question figure?
Question figure

Answer figure

(A) (B) (C) (D)

40. A family has a man, his wife and their 4
sons and their wives. The family of every
son also have 3 sons and one daughter each.
Find out the total number of male members.
(A) 17 (B) 12 (C) 4 (D) 14

41. A, B, C, D and E are sitting on a bench. A is
sitting next to B, C is sitting next to D, D is
not sitting with E who is on the left end of the
bench. C is on the second position from the
right. A is on the right of B and E. A and C are
sitting together. In which position is A sitting?
(A) Between B and D   (B) Between B and C

(C) Between E and D   (D) Between C and E

42. A and B are sisters. R and S are brothers.
A's daughter is R's sister. What is B's
relation to S?
(A) Mother (B) Grandmother
(C) Sister (D) Aunt

43. Sandhya walks straight from point A to B
which is 2 km away. She turns left, at 900

and walks 8 kms to C, where she turns left
again at 900 and walks 5 kms to D. At D she
turns left at 900 and walks for 8 kms to E.
How far is it form A to E?
(A) 2 (B) 3
(C) 5 (D) 8

44. Janaki started from her house and walked
2 km. towards North. Then she took a right
turn and covered one kilometre, then she
took again a right turn and walked for 2 kms.
In what direction is she going?
(A) North (B) East

(C) South (D) West
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0 1 2 3 4

0 F O M S R

1 S R F O M

2 O M S R F

3 R F O M S

4 M S R F O

5 6 7 8 9

5 A T D I P

6 I P A T D

7 T D I P A

8 P A T D I

9 D I P A T

32. F A R M

(A) 00, 98, 23, 34 (B) 12, 67, 04, 34

(C) 43, 67, 11, 33 (D) 24, 67, 11, 41

33. S O A P

(A) 10, 13, 67, 58 (B) 22, 01, 55, 66

(C) 34, 32, 79, 76 (D) 41, 44, 98, 99

funsZ'k% (iz- la- 34) uhps vkÑfr;ksa dk vuqØe fn;k x;k gSA
ftudk oxksZ a esa lewgu fd;k tk ldrk gSA ml xzqi dks
pqfu, ftlesa vkÑfr;ksa dks oxhZÑr fd;k tk ldrk gSA

34.

  (1)          (2)          (3)           (4)           (5)

     (6)         (7)         (8)            (9)

(A) 789,243, 156 (B) 132, 457, 689

(C) 168, 347, 259 (D) 169, 347, 258

funsZ'k% iz'u la[;k 35; esa] nks dFkuksa ds vkxs pkj fu"d"kZ I,
II, III vkSj IV fn, x, gSaA vki lkekU; Kkr rF;ksa esa
vUrj gksus ij Hkh nksuksa okD;ksa dh iM+rky] lR; le>
dj djsaA vki r; djsa fd fn, x, fu"d"kksZa esa ls
dkSu&lk] ;fn dksbZ gks] fn, x, dFkuksa ls fudyrk gSA

35. dFku%
(a) dqN fcfYy;ka dqÙks gSaA
(b) dqN dqÙks iRFkj gSaA
fu"d"kZ%
I . dksbZ fcYyh iRFkj ugha gSA
II. lHkh dqÙks iRFkj gSaA
III. dqN iRFkj fcfYy;ka gSaA
IV. dksbZ dqÙkk fcYyh ugha gSA
(A) dsoy I vkSj III ykxw gksrk gSA
(B) dsoy II vkSj III ykxw gksrk gSA
(C) dsoy I, III vkSj IV ykxw gksrk gSA
(D) buesa ls dksbZ ugha

funsZ'k% iz'u la[;k (36&37) esa yqIr la[;k (\) Kkr dhft,A

36. 3 4 5

2 3 4

1 2 3

14 29 ?

(A) 50 (B) 30 (C) 40 (D) 32

37. 5 9 15

16 29 ?

49 89 147

(A) 45 (B) 48 (C) 51 (D) 54

38. fuEufyf[kr esa ls dkSu&lk vkjs[k dhVksa] efD[k;ksa vkSj dqÙkksa
ds chp laca/ dk lgh fu:i.k djrk gS\

(A) (B) (C) (D)

39. ;fn fdlh niZ.k dks mÙkj dh vksj j[kk tk,] rks nh xbZ mÙkj
vkÑfr;ksa esa ls dkSu&lh vkÑfr iz'u vkÑfr dk lgh
izfrfcEc gksxh\
iz'u vkÑfr;k¡%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

40. ,d ifjokj esa ,d iq#"k] mldh iRuh] muds 4 iq=k vkSj
mudh ifRu;k¡ gSaA izR;sd iq=k ds vius ifjokj esa rhu&rhu csVs
vkSj ,d&,d csVh Hkh gSA iwjs ifjokj esa iq#"k lnL;ksa dh la[;k
Kkr dhft,A
(A) 17 (B) 12 (C) 4 (D) 14

41. A, B, C, D vkSj E ,d csap ij cSBs gSaA muesa A, B ds cjkcj
esa cSBk gS rFkk C, D ds cjkcj esaA ij D, E ds ikl ugha cSBk
gS] D;ksafd E csap ds ck,a fdukjs ij cSBk gSA C dk LFkku nkbZa
vksj ls nwljk gSA vkSj A, B vkSj E ds nkbZa vksj gSA ij A vkSj
C lkFk cSBs gSa] rc A fdl LFkku ij cSBk gS\
(A) B vkSj D ds chp esa (B) B vkSj C ds chp esa
(C) E vkSj D ds chp esa (D) C vkSj E ds chp esa

42. A vkSj B cgusa gSaA R vkSj S HkkbZ gSaA A dh csVh R dh cgu
gSA B dk S ls D;k laca/ gS\
(A) ek¡ (B) nknh (C) cgu (D) vkaVh

43. laè;k lh/s A ls B rd pyrh gS] tks 2 fdeh nwjh gSA fiQj
og 900 ij ck,¡ vksj eqM+dj 8 fdeh C rd pyrh gSA ogk¡
ls og fiQj 900 ck,¡ vksj eqM+dj D rd 5 fdeh pyrh
gSA fiQj ogk ls 900 ij ck,¡ eqM+dj 8 fdeh E rd pyrh
gSA rks A ls E fdruh nwjh ij gSA
(A) 2 (B) 3

(C) 5 (D) 8

44. tkudh vius ?kj ls mÙkj dh vksj 2 fdeh pyhA ogk¡ ls og
nkbZa vksj eqM+dj 1 fdeh pyhA fiQj og nqckjk nkbZa vksj eqM+h
vkSj 2 fdeh pyhA og fdl fn'kk esa tk jgh gS\
(A) mÙkj (B) iwoZ
(C) nf{k.k (D) if'pe
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45. How may triangles are there in the figure
PQRS?

P Q 

RS
(A) 16 (B) 12

(C) 10 (D) 8

46. Find out the set of numbers amongst the

four sets of numbers given in the

alternatives which is most like the set

given in the question.

Given set - (2, 14, 16)

(A) 2,  7, 8 (B) 3, 21, 24

(C) 4, 16, 18 (D) 2, 9, 16

47. Identify the two figures which are similar

in all respects.

(A) (B) (C) (D)

(E) (6)

(A) 3 - 6 (B) 1 - 4

(C) 2 - 4 (D) 2 - 5

48. A series of figures are given which can be

grouped into classes. From the responses,

select the groups into which the figures can

be classified.

(1) (2) (3) (4) (5)

(6) (7) (8) (9)

(A) 1,4,7;   2,5,8 ;   3,6,9

(B) 1,4,5;   2,6,8 ;   3,7,9

(C) 1,7,9;   3,6,8 ;   2,4,6

(D) 1,6,9;   2,5,8 ;   3,4,7

49. Which number is present only in one

geometrical figure?

(A) 3 (B) 2

(C) 5 (D) 4

50. How may squares are there in the given figure?

(A) 7 (B) 12

(C) 8 (D) 10
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45. PQRS okyh vkÑfr esa fdrus f=kHkqt gSa\

P Q 

RS

(A) 16 (B) 12

(C) 10 (D) 8

46. fn;s x;s pkj oSdfYid leqPp;ksa esa ls og la[;k lewg Nk¡fV;s
tks iz'u esa fn;s x;s la[;k lewg ls lokZf/d esy [kkrk gksA
fn, x, lsV& (2, 14, 16)

(A) 2,  7, 8 (B) 3, 21, 24

(C) 4, 16, 18 (D) 2, 9, 16

47. mu nks vkÑfr;kas dh igpku dhft, tks iw.kZr;k ,d leku gksA

(1) (2) (3) (4)

(5) (6)

(A) 3 - 6 (B) 1 - 4

(C) 2 - 4 (D) 2 - 5

48. uhps vkÑfr;ksa dk vuqØe fn;k x;k gS ftudk oxksZa esa
lewgu fd;k tk ldrk gSA fn, x, fodYiksa esa ls ml xzqi
dks pqfu, ftlesa vkÑfr;ksa dks oxhZÑr fd;k tk ldrk gSA

(1) (2) (3) (4) (5)

(6) (7) (8) (9)

(A) 1,4,7;   2,5,8 ;   3,6,9

(B) 1,4,5;   2,6,8 ;   3,7,9

(C) 1,7,9;   3,6,8 ;   2,4,6

(D) 1,6,9;   2,5,8 ;   3,4,7

49. dkSu&lh la[;k dsoy ,d T;kfefrd vkÑfr esa fo|eku gS\

(A) 3 (B) 2

(C) 5 (D) 4

50. nh xbZ vkÑfr esa dqy fdrus oxZ gS\

(A) 7 (B) 12

(C) 8 (D) 10
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Part - II (Arithmetic)

51. In the given figure AM ⊥ BC and AN is the

bisector of  ∠ A then what will be ∠ MAN  (if

∠ B = 65º and ∠ C = 33º)

A

CB
M N

(A) 33
1º

2
(B) 16

1º

2

(C) 16º (D) 32°

52. In the given figure O is the centre of the

circle. If AB = 16 cm, CP = 6 cm, PD = 8 cm

and AP > PB then what wil be the value of

AP.

A

B
C

O

P

D

(A) 12 cm (B) 24 cm

(C) 8 cm (D) 6 cm

53. The average marks of 32 boys of section A of

class X is 60 whereas the average marks of

40 boys of section B of class X is 33. The

average marks for both the sections

combined together is

(A) 44 (B) 45

(C) 
1

46
2

(D) 
1

45
2

54. The radius of the base and height of a right

circular cone are in the ratio 5 : 12. If the

volume of the cone is 314 cm3, the slant

height (in cm) of the cone will be

(A) 12 (B) 13

(C) 15 (D) 17

55. A solid metallic cone is melted and recast

into a solid cylinder of the same base as that

of the cone. If the height of the cylinder is 7

cm, the height of the cone was

(A) 20 cm (B) 21 cm

(C) 28 cm (D) 24 cm

56. In the given figure A, B, C and D are four

points situated on a circle. If AD = 24, BC =

12 then  what will be the ratio between the

area of ∆CBE and the area of ∆ ADE?

A

B

C

12

D

E

24

(A) 1 : 4 (B) 1 : 2

(C) 1 : 3 (D) data insufficient

57. The marked price of an article is 20% more

than its cost price. A discount of 20% is given

on the marked price. In this kind of sale, the

seller bears

(A) no gain, no loss

(B) a loss of 4%

(C) a gain of 4%

(D) a gain of 8%

58. ABCD is a trapezium in which AB II DC. If

diagonals intersect each-other at O then

which of the following is correct?

(A) =
OC OD 

OA OB
(B) =

OC DC 

AD AB

(C) =
OD CD 

OB BC
(D) =

OC DC 

DA DA

59. If 3x+y = 81 and 81x-y = 3, then the value of x is

(A) 42 (B) 
15

8

(C) 
17

8
(D) 39

60. Which of the following is correct if AD, BE

and CF are the medians of triangle, ABC?

(A) (AD + BE + CF) = (AB + BC + CA)

(B) (AD + BE + CF) > 
3

4
 (AB + BC + CA)

(C) (AD + BE + CF) < 
3

4
(AB + BC + CA)

(D) (AD + BE + CF) = 
1

2
(AB + BC + CA)

61. Surface areas of three adjacent faces of a

cuboid are p, q, r. Its volume is

(A) 2 2 2pq qr rp+ +

(B) ( ) ( )2 2 2pq qr rp p q r+ + + +

(C) ( ) ( )2 2 2p q r p q r
 + + + + 
 

(D) pqr
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Part -II (vadxf.kr)

51. fn, x, vkÑfr esa AM ⊥ BC rFkk AN dks.k ∠ A dk le`f¼
Hkktd gks rks ∠ MAN D;k gksxk&
(;fn ∠ B = 65º rFkk ∠ C = 33º)

A

CB
M N

(A) 33
1º

2
(B) 16

1º

2

(C) 16º (D) 32°

52. fn, x, vkÑfr esa O o`Ù̀k dk dsUnz gSA ;fn AB = 16 cm, CP

= 6 cm, PD = 8 cm rFkk AP > PB rks AP dk eku fdruk gksxk%

A

B
C

O

P

D

(A) 12 cm (B) 24 cm

(C) 8 cm (D) 6 cm

53. d{kk X ds vuqHkkx A ds 32 yM+dksa ds vadksa dk vkSlr 60
gS tcfd d{kk X ds vuqHkkx B ds 40 yM+dksa ds vadksa dk
vkSlr 33 gSA nksuksa vuqHkkxksa dks feykus ij vadksa dk vkSlr
gksxkA
(A) 44 (B) 45

(C) 
1

46
2

(D) 
1

45
2

54. fdlh yEc&òÙkh; 'kadq ds vk/kj dk v¼ZO;kl rFkk mldh
mQ¡pkbZ 5 % 12 ds vuqikr esa gSaA ;fn 'kadq dk vk;ru 314
lseh3- gks] rks 'kadq dh fr;Zd mQ¡pkbZ (lsehú esa) gksxhA
(A) 12 (B) 13

(C) 15 (D) 17

55. ,d Bksl /krq okys 'kadq dks xyk;k x;k gS rFkk 'kadq ds leku
vk/kj okys ,d Bksl csyu esa ifjofrZr fd;k x;k gS ;fn
csyu dh mQ¡pkbZ 7 lsehú gks] rks 'kadq dh mQ¡pkbZ Fkh
(A) 20 lsehú (B) 21 lsehú
(C) 28 lsehú (D) 24 lsehú

56. fn, x, vkÑfr esa A, B, C rFkk D oÙ̀k ij fLFkr pkj fcUnq,¡
gS ;fn AD = 24] BC = 12 gks rks ∆ CBE ,oa ∆ ADE ds
{ks=kiQy dk vuqikr gksxk\

A

B

C

12

D

E

24

(A) 1 : 4 (B) 1 : 2

(C) 1 : 3 (D) MkVk vi;kZIr
57. fdlh oLrq dk vafdr ewY; mlds Ø; ewY; ls 20» vf/d

gSA vafdr ewY; ij 20» dk ,d cV~Vk fn;k tkrk gSA bl
izdkj dh fcØh esa foØsrk dks gksxkA
(A) u ykHk] u gkfu
(B)  4% dh gkfu
(C) 4% dk YkkHk
(D) 8% dk YkkHk

58. ABCD ,d leyEc gS ftlesa AB, DC  ds lekUrj gSA ;fn
fod.kZ ,d nwljs dks fcUnq O ij dkVrs gSa rks fuEu esa ls dkSu&lk
dFku lgh gS\

(A) =
OC OD 

OA OB
(B) =

OC DC 

AD AB

(C) =
OD CD 

OB BC
(D) =

OC DC 

DA DA

59. ;fn If 3x+y = 81 rFkk 81x-y = 3 gks] rks x dk eku gksxkA

(A) 42 (B) 
15

8

(C) 
17

8
(D) 39

60. ;fn AD, BE rFkk CF f=kHkqt ABC dh ekfè;dk,¡ gSa] rc fuEu
esa ls dkSu&lk dFku lgh gksxk\
(A) (AD + BE + CF) = (AB + BC + CA)

(B) (AD + BE + CF) > 
3

4
 (AB + BC + CA)

(C) (AD + BE + CF) < 
3

4
(AB + BC + CA)

(D) (AD + BE + CF) = 
1

2
(AB + BC + CA)

61. fdlh ?kukHk ds rhu layXu ryksa ds ì"Bh; {ks=kiQy p, q, r.

gSaA mldk vk;ru gksxkA

(A) 2 2 2pq qr rp+ +

(B) ( ) ( )2 2 2pq qr rp p q r+ + + +

(C) ( ) ( )2 2 2p q r p q r
 + + + + 
 

(D) pqr
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62. A copper wire, when bent in the form of a

square encloses a region having area 121

cm2. If the same wire is bent in the form of a

circle, then the area of the region enclosed

by the wire will be 
22

7
x
 

=  

(A) 154 cm2 (B) 143 cm2

(C) 132 cm2 (D) 121 cm2

63. In a r ABC, AB = 3 cm, AC = 4 cm and AD

the bisector of ∠  A meets BC in D. Then ,

BD : DC is

(A) 9 : 16 (B) 16 : 9

(C) 3 : 4 (D) 4 : 3

64. The lenght of a diagonal of a square is 15 2 cm.

Its area is

(A) 112.5 cm2 (B) 450 cm2

(C) 
225 2

2
cm2 (D) 225 cm2

65. What sum of money at compound interest

will amount to ̀  650 at the end of one years

and ` 676 at the end of 2 years?

(A) ̀  520 (B) ̀  572

(C) ̀  600 (D) ̀  625

66. The difference between the compound and

simple interest on ̀  1,000 for 2 years at the

rate of 5% per annum is

(A) ` 2 (B) ̀  2.50

(C) ` 3 (D) ̀  3.50

67. If 4
1 1

sin x sin x

cos x cos x
+ =

+ −
and 0º < x > 90º

then, what is the value of x?

(A) 10º (B) 15º

(C) 30º (D) 45º

68. If a = sin ,b = cos
4 4

    
      
   

 and c = cosec 
4

 
  
 

then what is the value of a3 + b3 + c3 ?

(A) 
2

3 2
(B) 1 (C) 0 (D) 

2

3 2
−

69. If 4 sin2 x – 3 = 0, 0 < x < 2π  then what is

the value of x ?

(A) 30º, 120º, 210º, 330º

(B) 30º, 150º, 240º, 300º

(C) 60º, 120º, 240º, 300º

(D) 60º, 150º, 270º, 330º

70. Evaluate the value of (sinθ + cosθ )3 + (sinθ –

cosθ )3–

(A) 2 cosθ (2 + sin 2θ )

(B) 2 sinθ (2 + cos 2θ )

(C) 2 sin 2θ (1 + cos θ )

(D) 2 cos 2θ  (1 + sinθ )

71. If A =
6


 and B =

3


, then which of the

following will be correct.

I. sin A + sinB = cosA + cosB

II. tan A + tanB = cotA + cotB

Choose the correct option by using the

following code.

(A) Only I (B) Only II

(C) Both I and II (D) Neither I or II

72. The value of

2 4 4 4cos - cos +sin +sin
4 6 6 3

          
       
              

will be?

(A) 
9

16
(B) 

7

16

(C) 
5

16
(D) 

3

16

73. 30 workers can complete a job in 36 days.

After 30 days, some more workers joined

and the job was completed 2 days earlier.

How many new workers joined?

(A) 13 (B) 15

(C) 17 (D) 19

74. A dealer buys an article marked at ̀  25,000

with successive discounts of 20% and 5%.

If he spends  ̀  1,000 on its repairs and sells

it for  ` 25,000, then his gain percent is

(A) 20 (B) 25

(C) 30 (D) 35

75. How much percent abvoe the cost price

must a dealer mark his goods so that he

gians 10% after allowing a discount of 10%

on the marked price?

(A) 20 (B) 21

(C) 
2

22
9

(D) 
2

24
7

76. If a (x – a2) – b (x – b2) = 0, then x equal to

(A) 
2 2( a b)(a ab b )

a b

− + + +

+
(B) 

3 3a b

(a b)

+

−

(C) 

3 3a b

(a b)

−

+
(D) a2 + ab + b2

77. If   
2 2

p q

(b c)(b c a) (c a)(c a b)
=

− + − − + −

= 
2

r

(a b)(a b c)− + −
 the what will be the

value of (p + q + r) ?
(A) 0 (B) (a + b + c)

(C) (a + b + c) (ab + bc + ca)

(D) 
(a + b + c)

(ab + bc + ca)
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62. fdlh rk¡cs ds rkj dks tc ,d oxZ ds vkdkj esa eksM+k tkrk
gS] rks ;g 121 lseh2- {ks=kiQy okys {ks=k dks ?ksjrk gSA ;fn mlh
rkj dks ,d òÙk ds vkdkj esa eksM+k tk,] rks rkj }kjk ?ksjs

x, {ks=k dk {ks=kiQy gksxk 
22

7
x
 

=  

(A) 154 lseh2 (B) 143 lseh2

(C) 132 lseh2 (D) 121 lseh2

63. ,d f=kHkqt ABC esa, AB = 3 lseh-, AC = 4 lseh- rFkk
∠  A dk lef}Hkktd AD Hkqtk BC dks fcUnq D ij feyrk
gSA rc BD : DC cjkcj gksxkA
(A) 9 : 16 (B) 16 : 9

(C) 3 : 4 (D) 4 : 3

64. fdlh oxZ ds ,d fod.kZ dh yEckbZ 15 2 lsehú gSA bldk

{ks=kiQy gksxkA
(A) 112.5 lseh2 (B) 450 lseh2

(C) 
225 2

2
lseh2 (D) 225 lseh2

65. pØòf¼ C;kt ls dkSulh /ujkf'k ,d o"kZ ds vUr esa ̀ 650

rFkk 2 o"kZ ds vUr esa ` 676 gks tk,xhA
(A) ̀  520 (B) ̀  572

(C) ̀  600 (D) ̀  625

66. ` 1,000 dh /ujkf'k ij 5» okf"kZd C;kt dh nj ls 2 o"kZ
ds pØòf¼ rFkk lk/kj.k C;ktksa dk vUrj gksxkA
(A) ` 2 (B) ̀  2.50

(C) ` 3 (D) ̀  3.50

67. ;fn 4
1 1

sin x sin x

cos x cos x
+ =

+ −
rFkk 0º < x > 90º rks x dk

eku gS&
(A) 10º (B) 15º

(C) 30º (D) 45º

68. ;fn a = sin  ,b = cos
4 4

    
      
   

 rFkk c = cosec 
4

 
  
 

gks rks a3 + b3 + c3 dk eku gS&

(A) 
2

3 2
(B) 1

(C) 0 (D) 
2

3 2
−

69. ;fn 4 sin2 x – 3 = 0, 0 < x < 2π  rks x ds eku gksaxs &
(A) 30º, 120º, 210º, 330º (B) 30º, 150º, 240º, 300º

(C) 60º, 120º, 240º, 300º (D) 60º, 150º, 270º, 330º

70. (sinθ + cosθ )3 + (sinθ –cosθ )3  dk eku gksxk&

(A) 2 cosθ (2 + sin 2θ )

(B) 2 sinθ (2 + cos 2θ )

(C) 2 sin 2θ (1 + cos θ )

(D) 2 cos 2θ  (1 + sinθ )

71. ;fn A =
6


 vkSj B =

3


, rks fuEufyf[kr esa ls dkSu&lk@ls

lgh gS@gSa\
I. sin A + sinB = cosA + cosB

II. tan A + tanB = cotA + cotB

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj pqfu,%
(A) dsoy I (B) dsoy II

(C) I vkSj II nksuksa gh (D) u rks I vkSj u gh II

72.
2 4 4 4cos - cos +sin +sin

4 6 6 3

          
       
              

dk eku

gksxk%

(A) 
9

16
(B) 

7

16

(C) 
5

16
(D) 

3

16

73. 30 dkexkj fdlh dk;Z dks 36 fnu esa iwjk dj ldrs gSaA 30
fnu ds ckn dqN vkSj dkexkj yxk, x, rFkk dk;Z 2 fnu
igys iwjk dj fy;k x;kA fdrus u, dkexkj dk;Z ij yxk,
x,\
(A) 13 (B) 15

(C) 17 (D) 19

74. ,d O;kikjh ` 25,000 vafdr ewY; okyh fdlh oLrq dks
20» rFkk 5» ds nks Øeokj cV~Vs ysdj [kjhnrk gSA ;fn og
bldh ejEer ij ` 1]000 O;; djs rFkk bls ` 25,000

esa csps] rks mldk ykHk izfr'kr gksxkA
(A) 20 (B) 25

(C) 30 (D) 35

75. dksbZ O;kikjh vius eky ds ykxr ewY; ls fdrus izfr'kr
vf/d ij vafdr ewY; j[ks rkfd vafdr ewY; ij 10» dk
,d cV~Vk nsus ds mijkar mls 10» dk ykHk gks\
(A) 20 (B) 21

(C) 
2

22
9

(D) 
2

24
7

76. ;fn a (x – a2) – b (x – b2) = 0, rc x cjkcj gS&

(A) 
2 2( a b)(a ab b )

a b

− + + +

+
(B) 

3 3a b

(a b)

+

−

(C) 
3 3a b

(a b)

−

+
(D) a2 + ab + b2

77. ;fn 
2 2

p q

(b c)(b c a) (c a)(c a b)
=

− + − − + −

= 
2

r

(a b)(a b c)− + −
 gks rks (p + q + r) dk eku D;k gS\

(A) 0 (B) (a + b + c)

(C) (a + b + c) (ab + bc + ca) (D) 
(a + b + c)

(ab + bc + ca)
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78. Pipe A fills a water tank in 24 minutes. Pipe

B fills the same tank 7 time as fast as pipe

A. If both the pipes are kept open, in how

many minutes will the empty tank be

filled?

(A) 2 (B) 2.5

(C) 3 (D) 3.5

79. A can complete a piece of work in 36 days,

B  in 54 days and C in 72 days. All the three

began the work together but A left 8 days

before the completion of the work and B, 12

days before the completion of the work. Only

C worked upto the end. In how many days

was the work completed ?

(A) 24 (B) 25

(C) 27 (D) 30

80. If p2x (p2 + 1) = p (p3x + px) then x is equal to

(A) +1 (B) + p

(C) 0 (D) 
1

p

81. The difference of two number is 25% of the

larger number. If the smaller number is 30,

then the larger number is

(A) 40 (B) 45

(C) 48 (D) 50

82. In an election between two candidates, the

winner got 65% of the total votes cast and

won the election by a majority of 2748 votes.

What is the total number of votes cast if no

vote is declared invalid?

(A) 8580 (B) 8720

(C) 9000 (D) 9160

83. In an examination, 35%  of the total

students failed in Hindi, 45% failed in

English and 20% failed in both of these

subjects. The percentage of those students,

who passed in both the subjects, is

(A) 10 (B) 15

(C) 30 (D) 40

84. If A : B = 3 : 4 and B : C = 8 : 9, then the ratio

A : B : C is

(A) 3 : 4 : 5 (B) 1 : 2 : 3

(C) 7 : 12 : 17 (D) 6 : 8 : 9

85. If a : b = b : c, then the ratio a4 : b4 is equal

to

(A) ac : b2 (B) a2 : c2

(C) c2 : a2 (D) b2 : ac

86. Tea costing ` 136 a kilogram is mixed with

tea costing ̀  141  a kilogram in the ratio 2 : 3.

The cost of one kilogram of the mixture is

(A) ̀  138 (B) ̀  138.50

(C) ̀  139 (D) ̀  139.50

87. Of the 4800 employees of a company, one-

third are officers. If the number of officers

is reduced by half, the number of officers is

reduced by half, the number of officers is

what percent of the remaining employees

of the company?

(A) 25 (B) 20

(C) 
2

16
3

(D) 
5

15
8

88. Two number are 35% and 50% respectively

more than a third number. The first

number is what percent of the second

number?

(A) 90 (B) 85

(C) 80 (D) 75

89. If one man or two women or three boys can

do a piece of work in 55 days, then one man,

one women and one boy will do it in how

many days?

(A) 20 days (B) 30 days

(C) 40 days (D) 50 days

90. If m men can do a job in p days, then (m+r)

men can do the job in how many days?

(A) (p +r) days (B)  
mp

m r+
 days

(C)  
p

m r+
 days (D) 

m r

p

+
 days

91. The marked price of a machine is ̀  18,000.

By selling it at a discount of 20%, the loss

is 4% . What is the cost price of the

machine?

(A) ̀  10,000 (B) ̀  12,000

(C) ̀  14,000 (D) ̀  15,000

92. What number must be added to each of 4,

10, 12, 24, so that the resulting numbers

are in proportion?

(A) 6 (B) 8

(C) 10 (D) 4

Directions (For Q. No. 93 to 97)

The pie-chart, given here, shows the

expenditure incurred by a publisher in bringing

out a book.
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Study the pie-chart and answer questions

number 93 to 97 based on it.

93. If 5000 copies are published, miscellaneous

expenses amount to ` 1,500 and the

publisher wants a profit of 25%, then the

marked price of a copy of the book should
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78. ikbi A fdlh ikuh dh Vadh dks 24 feuV esa Hkjrk gSA mlh
Vadh dks ikbi B, ikbi A dh rqyuk esa 7 xquk rsth ls Hkjrk
gSA ;fn nksuksa ikbi [kksy fn, tk,¡] rks [kkyh Vadh dks iwjk
Hkjus esa fdrus feuV yxsaxs\
(A) 2 (B) 2.5

(C) 3 (D) 3.5

79. A fdlh dk;Z dks 36 fnu] B,54 fnu rFkk C, 72 fnu esa iwjk
dj ldrk gSA mUgksaus feydj dk;Z djuk vkjaHk fd;k fdUrq
dk;Z lekIr gksus ls 8 fnu igys A rFkk 12 fnu igys B dke
NksM+dj pys x,A dsoy C vUr rd dk;Z djrk jgkA dk;Z
fdrus fnu esa iwjk gqvk\
(A) 24 (B) 25

(C) 27 (D) 30

80. ;fn p2x (p2 + 1) = p (p3x + px)  gS] rks x cjkcj gS&
(A) +1 (B) +p

(C) 0 (D) 
1

p

81. nks la[;kvkssa dk vUrj cM+h la[;k ds 25» ds cjkcj gSA ;fn
NksVh la[;k 30 gS] rks cM+h la[;k gksxhA
(A) 40 (B) 45

(C) 48 (D) 50

82. nks mEehnokjksa ds chp fdlh pquko esa] thrus okys mEehnokj
dks dqy Mkys x, erksa ds 65» ds cjkcj er feys rFkk mlus
2748 erksa ds cgqer ls pquko thr fy;kA Mkys x, dqy erksa
dh la[;k fdruh gS ;fn dksbZ Hkh er voS/ ?kksf"kr u fd;k
x;k gks\
(A) 8580 (B) 8720

(C) 9000 (D) 9160

83. fdlh ijh{kk esa] dqy fo|kfFkZ;ksa ds 35» fo|kFkhZ fgUnh esa]
45» vaxzsth esa rFkk 20» bu nksuksa fo"k;ksa esa iQsy gq,A mu
fo|kfFkZ;ksa] tks nksuksa fo"k;ksa esa ikl gq,] dh izfr'krrk gS
(A) 10 (B) 15

(C) 30 (D) 40

84. ;fn A : B = 3 : 4 rFkk B : C = 8 : 9, gks] rks vuqikr
A : B : C  cjkcj gksxkA
(A) 3 : 4 : 5 (B) 1 : 2 : 3

(C) 7 : 12 : 17 (D) 6 : 8 : 9

85. ;fn a : b = b : c gks, rks vuqikr a4 : b4 cjkcj gksxk
(A) ac : b2 (B) a2 : c2

(C) c2 : a2 (D) b2 : ac

86. ` 136 izfr fdyksxzke ewY; okyh pk; dks ` 141 izfr
fdyksxzke ewY; okyh pk; ds lkFk 2 % 3 ds vuqikr esa
feyk;k x;k gSA ,d fdyksxzke feJ.k dk ewY; gksxkA
(A) ̀  138 (B) ̀  138.50

(C) ̀  139 (D) ̀  139.50

87. fdlh daiuh ds 4800 deZpkfj;ksa esa ls ,d&frgkbZ inkf/dkjh
gSaA ;fn inkf/dkfj;ksa dh la[;k dks de djds vk/k dj fn;k
tk,] rks inkf/dkfj;ksa dh la[;k daiuh ds 'ks"k deZpkfj;ksa dh
la[;k ds fdrus izfr'kr ds cjkcj jg tk,xh\

(A) 25 (B) 20

(C) 
2

16
3

(D) 
5

15
8

88. nks la[;k,¡ fdlh rhljh la[;k ls Øe'k% 35» rFkk 50» vf/d
gSaA igyh la[;k nwljh la[;k ds fdrus izfr'kr ds cjkcj
gksxhA
(A) 90 (B) 85

(C) 80 (D) 75

89. ;fn ,d iq:"k vFkok nks fL=k;k¡ vFkok rhu ckyd fdlh dk;Z
dks 55 fnuksa esa dj ldrs gSa] rks ,d iq:"k] ,d L=kh vkSj
,d ckyd bl dk;Z dks fdrus fnuksa esa dj ysaxs\
(A) 20 fnu (B) 30 fnu
(C) 40 fnu (D) 50 fnu

90. ;fn m vkneh ,d dke dks p fnuksa esa dj ldrs gSa] rks
(m+r) vkneh ml dke dks fdrus fnuksa esa dj ldrs gSa\

(A) (p +r) fnuksa esa (B)  
mp

m r+
 fnuksa esa

(C)  
p

m r+
 fnuksa esa (D) 

m r

p

+
 fnuksa esa

91. ,d e'khu ij bldh vafdr dher ̀  18,000 gSA ;fn bls
20» dh NwV ij cspus ls 4» dh gkfu gksrh gS] rks e'khu dh
ykxr dher D;k gS\
(A) ̀  10,000 (B) ̀  12,000

(C) ̀  14,000 (D) ̀  15,000

92. og dkSu&lh la[;k gS] ftls 4, 10, 12, 24 esa izR;sd ds
lkFk ;ksx djus ij izkIr la[;k,¡ lekuqikfrd gks tkrh gSaA
(A) 6 (B) 8

(C) 10 (D) 4

funsZ'k (iz'u laú 93 ls 97)
;gk¡ fn;k x;k ikbZ&pkVZ fdlh izdk'kd }kjk ,d iqLrd

ds izdk'ku ij fd, x, O;; dks iznf'kZr djrk gSA

d
kxt ij 

O;;15»

ft
Yn
lk
th

if
jO
;; 12
»

NikbZ O;; 

35»

foKk
iu 

ifjO;
;

18»

jkW;yVh 

15»

fofo/ 
O;; 

5»

ikbZ&pkVZ dk vè;;u dhft, rFkk bl ij vk/kfjr iz'u
la[;k 93 ls 97 ds mÙkj nhft,A

93. ;fn iqLrd dh 5000 izfr;k¡ Nkih xbZ gksa] fofo/ O;; `

1,500 gksa rFkk izdk'kd 25» dk ykHk pkgrk gks] rks iqLrd
dh ,d izfr dk vafdr ewY; gksxkA
(A) ̀  7.50 (B) ̀  10

(C) ̀  12. 50 (D) ̀  15
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be

(A) ̀  7.50 (B) ̀  10

(C) ̀  12. 50 (D) ̀  15

94. If the miscellaneous charges are ` 1,500,

then the advertisement charges are

(A) ̀   3,750 (B) ̀  4,500

(C) ̀  5, 250 (D) ̀  5,400

95. The ratio of the Cost of printing to Royalty is

(A) 3 : 7 (B) 7 : 3

(C) 7 : 1 (D) 1 : 7

96. If the Cost of printing is ` 10,500, then the

cost of paper is

(A) ̀  4,500 (B) ̀  5,400

(C) ̀  6,000 (D) ̀  6, 250

97. The measure of the central angle of the

sector for the binding charges is

(A) 64.80 (B) 540

(C) 43.20 (D) 360

98. The radius of the base of a right circular

cylinder is 3.5 cm and its height is 7.5 cm.

The ratio of the total surface area of the

cylinder to its curved surface areas is

(A) 22 : 5 (B) 22 : 15

(C) 22 : 7 (D) 22 : 17

99. The volume of the largest cylinder formed,

when a rectangular sheet of paper of size

22 cm × 15 cm is rolled along its large side,

is (use 
22

=
7

π )

(A) 288.75 cm3 (B) 577.50 cm3

(C) 866.25 cm3 (D) 1155.00 cm3

100. Each of the height and radius of the base of

a right circular cone is increased by 100%.

The volume of the cone will be increased by

(A) 700% (B) 500%

(C) 300% (D) 100%
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94. ;fn fofo/ O;; ` 1,500 gks, rks foKkiu ifjO;; gksaxsA
(A) ̀   3,750 (B) ̀  4,500

(C) ̀  5, 250 (D) ̀  5,400

95. NikbZ O;; dk jkW;YVh ls vuqikr gS
(A) 3 : 7 (B) 7 : 3

(C) 7 : 1 (D) 1 : 7

96. ;fn NikbZ O;; ` 10,500 gksa, rks dkxt ij O;; gksxkA
(A) ̀  4,500 (B) ̀  5,400

(C) ̀  6,000 (D) ̀  6, 250

97. ftYnlkth ifjO;; ds fy, f=kT;&[kaM ds dsUnzh; dks.k dh
eki gS
(A) 64.80 (B) 540

(C) 43.20 (D) 360

98. fdlh yEc&òÙkh; csyu ds vk/kj dh f=kT;k 3-5 lsehú rFkk
mldh mQ¡pkbZ 7-5 lsehú gSA csyu ds lEiw.kZ i"̀Bh; {ks=kiQy

dk mlds oØ i"̀Bh; {ks=kiQy ls vuqikr gksxkA
(A) 22 : 5 (B) 22 : 15

(C) 22 : 7 (D) 22 : 17

99. 22 lsehú × 15 lsehú lkbt dh vk;rkdkj dkxt dh 'khV
dh yEch Hkqtk dks eksM+dj cuus okys lcls cM+s csyu dk

vk;ru gks (
22

7
π = yhft,)

(A) 288.75 lseh-3 (B) 577.50 lseh-3

(C) 866.25 lseh-3 (D) 1155.00 lseh-3

100. fdlh yEc&òÙkh; 'kadq dh mQ¡pkbZ rFkk vk/kj dh f=kT;k esa
ls izR;sd esa 100» dh òf¼ dh tkrh gSA 'kadq ds vk;ru esa
fdruh òf¼ gksxh\
(A) 700% (B) 500%

(C) 300% (D) 100%
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101. Sensitive instruments can be shielded

from external magnetic effects by

surrounding them wil l a/an

_________shield.

(A) Brass (B) Iron

(C) Glass (D) Rubber

102. What does the ‘funny bone’ refer to?

(A) A bone (B) A muscle

(C) A nerve (D) A blood vessel

103. Who was awarded the Nobel prize for the

accurate prediction of the meson particles?

(A) Fermi (B) H. Yukawa

(C) Anderson (D) M. Schultze

104. A physical change, among the following, is

(A) Distillation (B) Evaporation

(C) Filtration (D) Decantation

105. The metal that is twice as strong as steel,

though being only half its weight, is

(A) Copper (B) Platinum

(C) Aluminum (D) Titanium

106. How many images does an object that is

placed between two mirrors parallel to each

other form?

(A) 1 (B) 2

(C) 4 (D) Infinite

107. Which of the son of Aurangzeb succeeded

him as  the Emperor of India under the title

‘Bahadur Shah’ ?

(A) Kam Baksh

(B) Muhammad Muazzam

(C) Muhammad Azam

(D) None of the above

108. Great Stupa at Sanchi is in

(A) Uttar Pradesh (B) Madhya Pradesh

(C) Arunachal Pradesh (D) Andhra Pradesh

109. What was the age of Akbar at the time of

his coronation at Kalanaur?

(A) Thirteen (B) Fifteen

(C) Eighteen (D) Twenty

110. The chairman of the Public Accounts

Committee in the Indian Parliament is:

(A) The Leader of Opposition party

(B) The Speaker of Lok Sabha

(C) The Deputy Speaker of Lok Sabha

(D) The Chairman of Rajya Sabha

111. Which authority recommends the principles

governing the grants-in-aid of the revenues

of the States out of the Consolidated Fund

of India?

(A) Public Accounts Committee

(B) Union Ministry of Finance

(C) Finance Commission

Part - III (General Awareness)

(D) Inter-State Council

112. Which of the following non-members of Par-

liament has the right to address it?

(A) Attorney General of India

(B) Solicitor General of India

(C) Chief Justice of India

(D) Chief Election commissioner

113. Which of the following writs/orders of the

High Court/ Supreme Court is sought to get

an order of an authority quashed?

(A) Mandamas (B) Certiorari

(C) Quo Warranto (D) Habeas Corpus

114. A member of Rajya Sabha has a term of

(A) two years (B) four years

(C) five years (D) six year

115. The Southern end of India is

(A) Cape Comorin (Kanyakumari)

(B) Point Calimere

(C) Indira Point in Nicobar Islands

(D) Kovalam in Thiruvananthapuram

116. The time period of a pendulum, when taken

to the moon, would

(A) Remains the same (B) Decrease

(C) Becomes zero (D) Increase

117. An important river of the Indian desert is

(A) Luni (B) Narmada

(C) Krishna (D) Beas

118. The moon has no atmosphere because

(A) It has no gases

(B) The mean square velocity of all gases is

more than the escape velocity on the

moon’s surface

(C) Its surface is rocky

(D) Satellites do not have atmospheres-only

planets have

119. Tsunamis are not causes by

(A) hurricanes

(B) earthquakes

(C) undersea landslides

(D) volcanic eruptions

120. Which of the following statement with re-

gard to rainfall in India is/are correct?

A. Most of the rainfall in India is due to

the south-west monsoon.

B. In South India, rainfall decreases away

from the Eastern Ghats.

Select the correct answer using the code

given below:

(A) A only (B) B only

(C) Both A and B

(D) Neither A nor B
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Part - III (lkekU; tkudkjh)

101- laosnu'khy ;a=kksa dks ckg~; pqEcdh; izHkko ls ifjjf{kr djus
ds fy, mu ij --------------dh ijr p<+kbZ tkrh gSA
(A) ihry (B) yksgk
(C) dkap (D) jcM+

102- ^iQÂh cksu* dk D;k vFkZ gS\
(A) ,d gM~Mh (B) ,d ekalis'kh
(C) ,d ukM+h (D) ,d jDr okfgdk

103- eslku d.kksa ds ,dne lgh vuqeku ds fy, fdldks ukscsy
iqjLdkj fn;k x;k gS\
(A) iQehZ (B) ,p- ;qdkok
(C) ,.Mjlu (D) ,e- lpYrts

104- fuEufyf[kr esa ls fdlds }kjk HkkSfrd ifjoZru iznf'kZr gks jgk
gS\
(A) vklou (B) ok"iu
(C) NukbZ ('kq¼hdj.k) (D) fuLrkiu

105- og /krq tks LVhy dh rqyuk esa nks xquk etcwr gS ;f|i ;g
blds Hkkj dh vk/h gS&
(A) rkack (B) IysfVue
(C) ,Y;wehfu;e (D) VkbVsfue;

106- nks lekUrj niZ.kksa ds eè; fLFkr oLrq ds fdrus izfrfcEc curs
gS\
(A) 1 (B) 2
(C) 4 (D) vuUr

107. vkSjaxtsc ds ckn mldk dkSu&lk csVk ^cgknqj'kkg* ds uke
ls Hkkjr dk lezkV cuk\
(A) dke c[+'k (B) eqgEen eksvkT+t+e
(C) eqgEen vkte (D) mi;qZDr esa ls dksbZ ugha

108. lk¡ph dk egku Lrwi gS
(A) mÙkj izns'k esa (B) eè; izns'k esa
(C) v:.kkpy izns'k esa (D) vkU/z izns'k esa

109. dykukSj esa jkT;kfHk"ksd ds le; vdcj dh vk;q fdruh Fkh\
(A) rsjg (B) ianzg
(C) vBkjg (D) chl

110. Hkkjrh; laln esa yksd ys[kk lfefr dk vè;{k gksrk gS%
(A) foi{kh ny dk usrk (B) yksd lHkk dk vè;{k
(C) yksd lHkk dk mikè;{k (D) jkT; lHkk dk vè;{k

111. fuEufyf[kr esa ls og izkf/dkjh dkSu lk gS tks Hkkjr dh
lesfdr fuf/ ls jkT;ksa ds jktLo lgk;rk&vuqnku ij ykxw
gksus okys fl¼karksa dh fliQkfj'k djrk gS\
(A) yksd ys[kk lfefr (B) dsaUnzh; foÙk ea=kky;
(C) foÙk vk;ksx (D) varjkZT; ifj"kn~

112. fuEufyf[kr esa ls og O;fDr dkSu gS tks laln lnL; ugha gS
ysfdu ftls laln dks lacksf/r djus dk vf/dkj izkIr gS\
(A) Hkkjr dk vVkuhZ tujy
(B) Hkkjr dk lkWfyflVj tujy

(C) Hkkjr ds eq[; U;k;ewfrZ
(D) eq[; fuokZpu vk;qDr

113. fuEufyf[kr esa ls mPp U;k;ky;@mPpre U;k;ky; dk og
fjV@vkns'k dkSu lk gS tks fdlh izkf/dkjh dks jn~~n djus ds
fy, fy;k tkrk gS\
(A) ijekns'k fjV (B) mRizsj.k fjV
(C) vf/dkjiP̀Nk fjV (D) izR;{khdj.k fjV

114. jkT; lHkk ds lnL; dk;Zdky fuEufyf[kr esa ls fdrus o"kZ
dk gksrk gS\
(A) nks o"kZ (B) pkj o"kZ
(C) ik¡p o"kZ (D) N% o"kZ

115. Hkkjr ds nf{k.kh Nksj dk uke D;k gS\
(A) dsi dseksjhu (dU;kdqekjh)
(B) dkfyfe;j ikWbUV
(C) fudksckj }hi esa fLFkr bfUnjk ikWbUV
(D) fr:ouUriqje esa fLFkr dksoye

116- isaMqye dk vkorZdky D;k gksxk ;fn mls pUnzek ij ys tk;k
tk,\
(A) vifjofrZr jgsxk (B) ?kV tk;sxk
(C) 'kwU; gks tk;sxk (D) c<+ tk;sxk

117. Hkkjrh; e:LFky dh ,d egRoiw.kZ unh gS
(A) ywuh (B) ueZnk
(C) Ñ".kk (D) C;kl

118- pUnzek ij dksbZ ok;qe.My ugha gS D;ksafd &
(A) ogk¡ dksbZ xSl ugha gSA
(B) pUnzek ij xSlksa dh oxZ ekè;ewy pky ogk¡ ds iyk;u
osx ls vf/d gSA
(C) bldh lrg pV~Vku ;qDr gS&
(D) mixzgksa ij ok;qe.My ugha gksrk] fliQZ xzgksa ij gksrk gSA

119. lqukeh fdlds }kjk ugha gksrh gS\
(A) izHkatu
(B) HkwdEi
(C) leqnzhryh; HkwL[kyu
(D) Tokykeq[kh mn~~xkj

120. Hkkjr esa o"kkZ ds ckjs esa fuEufyf[kr dFkuksa esa ls dkSu&lk@ls
gh lgh gS@gSa\
A. Hkkjr esa vf/dka'k o"kkZ nf{k.k&if'pe ekulwu ds dkj.k

gksrh gSA
B. Hkkjr esa o"kkZ] iwohZ ?kkVksa ls nwj ?kVrh tkrh gSA
uhps fn, x, dwV dk iz;ksx dj lgh mÙkj pqfu,%
(A) dsoy A (B) dsoy B
(C) A vkSj B nksuksa (D) u rks A vkSj u gh B
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121. A cut diamond sparkles brightly owing to

(A) Its high refractive index and low critical

angle value

(B) Its low refractive index

(C) Its high refractive index and high critical

angle value

(D) Total internal refraction

122. Match List-I  (Power Project) with List-II

(State) and select the correct answer using

the codes given below the Lists:

List – I List-II

(Power Project) (State)

A. Nagarjunasagar (A) Himachal Pradesh

Project

B. Indira Sagar (B) Assam

Project

C. Chandrapur (B) Madhya Pradesh

Project

D. Nathpa Jhakhri (B) Andhra Pradesh

Project

(E) Tamil Nadu

Code :

A B C D

(A) 5 3 2 4

(B) 4 3 2 1

(C) 5 2 1 4

(D) 4 2 1 3

123. When does the density of the troposphere

increase?

(A) In summer (B) In winter

(C) In spring (D) It never changes

124. The phenomenon of downhill movement of

soil and rock pieces is called

(A) Landslide (B) Earth flow

(C) Exfoliation (D) Weathering

125. Which of the following is NOT a crystalline

solid?

(A) Common salt (B) Sugar

(C) Copper Sulphate (D) Rubber

126. Which of the following is the best source of

vitamin C?

(A) Egg yolk (B) Fish-liver oil

(C) Cod-liver oil (D) Citrous fruits

127. Which of the following is a synthetic polymer?

(A) Silk (B) Protein

(C) Polystyrene (D) Starch

128. Standing passengers are not allowed on the

upper deck of a bus because

(A) the volume of the bus increase

(B) the weight of the bus increases

(C) the bus would be in unstable equilibrium

(D) passengers are in inertia of motion

129. Short sight or Myopia is corrected by using a

(A) cylindrical lens (B) convex lens

(C) concave lens (D) plane glass

130. Water boils at a lower temperature on the

hills because

(A) it is cold on the hills

(B) there is less carbon dioxide on the hills

(C) there is low air pressure on the hills

(D) there is less oxygen

131. Source of energy in ecosystem is

(A) Sun

(B) Green plants

(C) Sugar produced by photosynthesis

(D) ATP

132. Which is the purest form of iron?

(A) Steel (B) Cast iron

(C) Pig iron (D) Wrought iron

133. Lamberts law is related to

(A) Reflection (B) Refraction

(C) Interference (D) Illumination

134. Two richest known sources of edible protein

are

(A) meat and eggs

(B) milk and vegetables

(C) soyabean and groundnut

(D) Some type of algae and other microor-

ganisms

135. Which of the following is a Navaratna PSE?

(A) Steel Authority of India Ltd.

(B) MMTC Ltd.

(C) National Aluminium Company Ltd.

(D) Oil India Ltd.

136. ‘World AIDS day’ is observed on

(A) 1st January (B) 1st April

(C) 1st September (D) 1st December

137. The best Index of Economic Development is

provided by :

(A) Growth in Per capita Real Income from

year to year

(B) Growth in National Income at Current

Prices.

(C) Growth in savings ratio.

(D) Improvement in the Balance of Pay-

ments Position.

138. International Bank for Reconstruction and

Development is also known as

(A) Credit Bank

(B) Exim Bank

(C) World Bank

(D) Asian Bank

139. Which is the Agency the Government  has

engaged to grade and standardise various

agricultural products?

(A) Food Corporation of India

(B) Directorate of Marketing and Inspection

(C) Bureau of Indian Standards

(D) Central Statistical Organization
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121- ,d dVk gqvk ghjk ------------- ds dkj.k cgqr rst ped
fc[ksjrk gSA
(A) blds mPp viorZukad vkSj fuEu ØkafUrd dks.k ds eku
(B) blds fuEu ijorZukad
(C) blds mPp viorZukad vkSj mPp Økafrd dks.k ds eku
(D) iw.kZ vkUrfjd ijkorZu ds dkj.k

122. lwph&I (fctyh ifj;kstuk) dks lwph&II (jkT;) ds lkFk
lqesfyr dhft, vkSj lwfp;ksa ds uhps fn, x, dwV iz;ksx djrs
gq, lgh mÙkj pqfu,%
lwph&I lwph&II
(fctyh ifj;kstuk) (jkT;)
A. ukxktqZulkxj ifj;kstuk 1. fgekpy izns'k
B. bfUnjklkxj ifj;kstuk 2. vle
C. pUnziqj ifj;kstuk 3. eè; izns'k
D. ukFik >k[kjh ifj;kstuk 4. vka/z izns'k

5- rfeyukMq
dwV %

A B C D

(A) 5 3 2 4

(B) 4 3 2 1

(C) 5 2 1 4

(D) 4 2 1 3

123. {kksHke.My dh l?kurk dc c<+ tkrh gS\
(A) xzh"e Írq esa
(B) 'khr Írq esa
(C) clUr Írq esa
(D) ;g dHkh ifjofrZr ugha gksrh

124. e`nk vkSj 'kSy [k.Mksa ds uhps f[kldus dh ?kVuk dks D;k dgk
tkrk gS\
(A) HkwL[kyu (B) eǹk izokg
(C) vi'kYdu (vii=k.k) (D) vi{k;

125. fuEufyf[kr esa ls dkSu&lk fØLVyh Bksl ugha gS\
(A) ued (B) 'kdZjk ('kqxj)
(C) dkWij lYiQsV (D) jcM+

126. fuEufyf[kr esa ls foVkfeu ^lh* dk loksZÙke lzksr gS
(A) v.Ms dh tjnh (B) eNyh dk ;Ñr rsy
(C) dksM eNyh dk ;Ñr rsy (D) flVªl iQy

127. fuEufyf[kr esa ls laf'y"V ikWyhej dkSu&lk gS\
(A) flYd (B) izksVhu
(C) ikWfyLVkbjhu (D) ekaM (LVkpZ)

128. cl ds mQijh Msd ij ;kf=k;ksa dks blfy, [kM+k ugha gksus fn;k
tkrk gS] D;ksafd
(A) cl dk vk;ru c<+ tkrk gS
(B) cl dk Hkkj c<+ tkrk gS
(C) cl dk lUrqyu vfLFkj gks tk,xk
(D) ;k=kh xfr ds tM+Ro esa gksrs gSa

129. fudV ǹf"V ;k ek;ksfi;k dks fuEufyf[kr esa ls fdldk iz;ksx
djrs gq, gq, Bhd fd;k tk ldrk gS\

(A) csyukdkj ysUl (B) mÙky ysUl
(C) vory ysUl (D) lery ysUl

130. igkM+ksa ij ty de rkieku ij mcyrk gS D;ksafd
(A) igkM+ksa ij BaM gksrh gS
(B) igkM+ksa ij dkcZu MkbvkWDlkbM de gksrh gS
(C) igkM+ksa ij ok;q nkc de gksrk gS
(D) vkWDlhtu de gksrh gS

131. ikfjfLFkfrd&ra=k esa mQtkZ dk lzksr gS
(A) lw;Z
(B) gjs ikS/s
(C) izdk'k&la'ys"k.k esa iSnk gksus okyh 'kdZjk
(D) ,-Vh-ih-

132. yksgs dk 'kq¼re :i dkSu&lk gS\
(A) LVhy (B) <yok¡ yksgk
(C) dPpk yksgk (D) fiVok¡ yksgk

133. ySEcVZ fu;e fdlls lacaf/r gS\
(A) ijkorZu (B) viorZu
(C) O;fDrdj.k (D) iznhfIr

134. [kk| izksVhu ds nks lcls le¼̀ Kkr lzksr gSa
(A) ekal rFkk vaMs
(B) nw/ vkSj lfCt;k¡
(C) lks;kchu vkSj ew¡xiQyh
(D) ,d izdkj dk 'kSoky vkSj vU; lw{e tho

135. lkoZtfud {ks=k dk fuEufyf[kr esa ls dkSu&lk m|e ̂ uojRu*
gS\
(A) LVhy vkWFkksfjVh vkWiQ bf.M;k fyú
(B) ,eú ,eú Vhú lhú fyú
(C) us'kuy ,syqfefu;e dEiuh fyú
(D) vkW;y bf.M;k fyú

136. ^fo'o ,M~l fnol* euk;k tkrk gS
(A) 1 tuojh dks (B) 1 vizSy dks
(C) 1 flRkEcj dks (D) 1 fnlEcj dks

137. vkfFkZd fodkl dk loksZÙke lwpdkad miyC/ djk;k tkrk gS%
(A) o"kZ&izfr o"kZ] O;fDRk okLrfod vk; esa ò̀f¼ }kjkA
(B) orZeku dherksa ij jk"Vªh; vk; esa òf¼ }kjkA
(C) cpr vuqikr esa òf¼ }kjkA
(D) Hkqxrku larqyu dh fLFkfr esa lq/kj }kjkA

138. varjkZ"Vªh; iqufuZekZ.k vkSj fodkl cSad dks fuEufyf[kr esa ls
fdl ,d uke ls Hkh tkuk tkrk gS\
(A) ØsfMV cSad (B) ,fDTe cSad
(C) fo'o cSad (D) ,f'k;u cSad

139. fuEufyf[kr esa ls og ,tsalh dkSu lh gS ftls ljdkj us
fofHkUu Ñf"k mRiknksa dks xzsfMr rFkk ekudhÑr djus ds fy,
fu;qDr fd;k gS\
(A) Hkkjrh; [kk| fuxe
(B) foi.ku rFkk fujh{k.k funs'kky;
(C) Hkkjrh; ekud laLFkk
(D) dsanzh; lka[;dh; laxBu
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140. Which of the following pairs is/are not cor-

rectly matched?

1. Indo-China war : 1962

2. Death of Jawaharlal Nehru : 1964

3. Formation of Bangladesh : 1973

Select the correct answer using the codes

given below:

(A) 1 and 2 (B) 2 and 3

(C) 1 only (D) 3 only

141. The survey of India works under which one

of the following ministry of the Government

of India?

(A) Ministry of Defence

(B) Ministry of Home Affairs

(C) Ministry of Science and Technology

(D) Ministry of Tourism and Culture

142. Where are the Headquarters of INTERPOL

located?

(A) Berne (B) London

(C) Lyon (D) Rome

143. Who has written the book 'Valley of Masks’?

(A) Tarun Tejpal (B) Namita Gokhale

(C) Salman Rushdie (D) VS Naipaul

144. The KYC guidelines of RBI mandate bank

to collect proofs from their customers. They

are-

(A) Proof of identity

(B) Photograph

(C) Proof of address

(A) Only B (B) Both A and B

(C) Only C (D) All A, B, and C

145. State Bank of India has increased the home

loan tenure maximum to-

(A) 25 year (B) 30 year

(C) 35 year (D) 50 year

146. On 26 January 2012, India celebrated

its_______ Republic Day.

(A) 60th (B) 58th

(C) 62nd (D) 63rd

147. Sachin Tendulkar scored his 50th Test Century

in-

(A) South Africa (B) New Zealand

(C) Australia (D) India

148. For what colour of light refractive index of

glass is minimum?

(A) Red (B) Blue

(C) Violet (D) Yellow

149. Which bank recently launched a special

scheme ‘Cent Vayushakti’ for promoting a

defense salary package?

(A) Central Bank of India

(B) State Bank of India

(C) Punjab National Bank

(D) Bank of Maharashtra

150. Consider the following statements regard-

ing Lakshya 1 and state which of them are

true?

(a) Lakshya-1 is India’s indigenously

developed micro-light pilot-less target

aircraft

(b) ‘Lakshya’, a sub-sonic, re-usable aerial

target system is remote controlled from

the ground and designed to impart

training to both air borne and air

defense pilots.

(c) The PTA has been developed by India’s

Aeronautic Development Establishment

(ADE) & has been inducted into the

Indian Air Force (IAF) since 2000.

(A) Only (a) (B) (a) and (b)

(C) (a) and (c) (D) All are true
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140. fuEufyf[kr esa ls dkSu&lk@ls ;qXe lgh lqesfyr ugha gSa@gSa\
1. Hkkjr&phu ;q¼ % 1962
2. tokgjyky usg: dh eR̀;q % 1964
3. ckaXykns'k dk xBu % 1973
uhps fn, x, dwV dk iz;ksx dj lgh pqfu,%
dwV %
(A) 1 vkSj 2 (B) 2 vkSj 3
(C) dsoy 1 (D) dsoy 3

141. Hkkjr ljdkj ds fuEufyf[kr ea=kky;ksa esa ls fdlds v/hu
Hkkjrh; losZ{k.k foHkkx dk;Zjr gS\
(A) j{kk ea=kky;
(B) xg̀ ea=kky;
(C) foKku vkSj izkS|ksfxdh ea=kky;
(D) i;ZVu vkSj laLÑfr ea=kky;

142. ^baVjiksy* ds eq[;ky; dgk¡ fLFkr gSa\
(A) cuZ (B) yUnu
(C) Y;ksu (D) jkse

143-   fdrkc Valley of Masks fdlus fy[kk gS\
(A) r#u rstiky (B) uferk xks[kys
(C)  lyeku :'nh (D) ch-,l- uSikWy

144-   Hkkjrh; fjtoZ cSad ds (KYC) fn'kk funsZ'k us cSadksa dks xzkgdksa
ls dkSu ls lk{;ksa dks tek djus dh vkKk nh gS\

(A) igpku dk izek.k (B) iQksVksxzkiQ
(C)  irs dk izek.k
(A) dsoy B (B) nksuksa A vkSj B
(C)  dsoy C (D) lHkh A,B vkSj C

145. Hkkjrh; LVsV cSad us x`̀g Í.k dh vof/ dks c<+k fn;k gS&
(A) vf/dre 25 o"kZ (B) vf/dre 30 o"kZ
(C) vf/dre 35 o"kZ (D) vf/dre 50 o"kZ

146- 26 tuojh 2012 dks Hkkjr us viuk -----------x.kra=k fnol
euk;k FkkA
(A) 60th (B) 58th

(C) 62nd (D) 63rd

147. lfpu rsanqydj us viuk 50ok¡ VsLV 'krd dgk¡ cuk;k Fkk\
(A) nf{k.k vizQhdk (B) U;wthyS.M
(C) vkWLVªsfy;k (D) Hkkjr

148. izdk'k ds fdl jax ds fy, dkap dk fdj.k oØrk lwpdkad
U;wure gksrk gS\
(A) yky (B) uhyk
(C) cSaxuh (D) ihyk

149- fuEufyf[kr fdl cSad us j{kk foHkkx esa osru dks izksRlkfgr
djus ds fy, ^lsaV ok;q 'kfDr* ;kstuk 'kq: dh gS\
(A) lsVªy cSad vkWiQ bafM;k (B) LVsV cSad vkWiQ bafM;k
(C) iatkc us'kuy cSad (D) cSad vkWiQ egkjk"Vª

150- fuEufyf[kr dFkuksa ij y{;&1 ds fo"k; ij fopkj dfj,
blesa dkSu lR; gS\
(a) y{;&1 Hkkjr dk Lons'kh ekuojfgr ,vj ØkÝVA
(b) Yk{; ,d lclksfud iqu% iz;ksx gksus okyk ok;q flLVe

gS tks i`̀Foh ls fjeksV daVªksy }kjk fu;f=kar gksxkA
(c) ekuo jfgr ,vj ØkÝV Hkkjr ds ,vjksukWfVd MsoysiesaV

}kjk LFkkfir gS tks Hkkjrh; ok;q lsuk esa 2000 ls 'kkfey
fd;k x;kA

(A) osQoy (a) (B) (a) vkSj (b)

(C) (a) vkSj (c) (D) lHkh lR; gS
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Part - IV (English Comprehension)

Directions: (Q. No.151-155): Some of the
sentences have errors and some have non. Find
out which part of a sentence has error and
blacken the rectangle corresponding to the
appropriate letter (A), (B), (C). If there is no error,

blacken the rectangle corresponding to (D) in
the answer sheet.

151. (A) I did not know/ (B) who was sitting/ (C)
besides me./ (D) No error

152. (A) I appointed him/ (B) as my assistant/
(C) but he usually behaved as my boss ./
(D) No error

153. (A) I don't know / (B) to start this/ (C) music
system./ (D) No error

154. (A) I was very happy /(B) when I heard about
(C) me winning the lucky draw./ (D) No error

155. (A) Tea is more preferable/ (B) to coffee/
(C) in Northern India./ (D) No error

Directions : In questions 156 to 160, four

alternatives are given, choose the alternative
which best expresses the meaning.

156. The use of many words where only a few
are necessary.

(A) circumlocution (B) circumspection

(C) circumscription (D) circumvention

157. The action of looking within or into one’s

own mind

(A) observation (B) examination

(C) introspection (D) introvert

158. To confirm with the help of evidence

(A) corroborate (B) implicate

(C) designate (D) extricate

159. Fear of crowds.

(A) sitophobia (B) hydrophobia

(C) xenophobia (D) whoopee

160. Physical features of an area.

(A) geography (B) sociology

(C) contour (D) topography

Directions: (Q. No.161-165): A part of the
sentence is underlined.Below a given
alternatives to underlined part at (A), (B), (C)
which may improve the sentence. Choose the
correct alternative.In case of no improvement,
your answer is (D).

161. I gave him the little money I could spare

then.

(A) a little (B)some little

(C) very little (D)No improvement

162. He plays Cricket and Tennis also.

(A) both (B) besides

(C) too (D)No improvement

163. He was an American citizen since 1970 and
is now living a retired life in India.

(A) had been (B)has been

(C) is (D) No improvement

164. Kathmandu is a worth seeing place in Nepal

(A) a place worth seeing

(B) a place to see its worth

(C) one of the worth seeing places
(D) No improvement

165. I could not cope up with the rush.

(A) cope upto (B) cope by

(C) cope with (D) No improvement

Directions (166-170): In the following
questions, sentences are given with blanks to
be filled in with an appropriate and suitable
word. Four alternatives are suggested for each
question. Choose the correct alternative out
of the four i.e. (A), (B), (C), (D).

166. If you drink too much, it will_____your
judgement.

(A) impede (B) impare

(C) impose (D) impel

167. She was let_____ by the teacher with light
punishment..

(A) off (B)in

(C) down (D) up

168. She is as good____girl as her sister is.

(A) a (B) the

(C)as (D) so

169. Look ! Cattle _____ grazing in the field .

(A) are (B) is

(C) were (D)was

170. The funds that we receive from America
_____ insufficient.

(A) is (B) are

(C) was (D)were

Directions (171-175): groups of four words
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are given. In each group one word is correctly

spelt. Find the correctly spelt word and mark

it in your Answer-Sheet.

171. (A) assassination (B)asassination

(C) assasination (D)assassinashion

172. (A)aclimatization (B) aclimatizasion

(C)acclimatization (D)acclimateization

173. (A)pronuonciation (B)pronunciation

(C)pronunciasion (D)pronountiation

174. (A)renaissance (B)renaisance

(C)renaissence (D)ranaissance

175. (A)ambidexterous (B)amphidextrous

(C)ambidextrus (D)ambidextrous

Directions: in questions no. 176 to 180,
out of the four alternatives, choose the one
which best expresses the meaning of the given
word and mark it in the answer sheet.

176. Friendly

(A) Gentle (B) Amiable

(C) Considerate (D) Industrious

177. Veil

(A)Seclude (B)Moan

(C)Conceal (D)Repent

178. Horrendous

(A) Very huge (B) Greatly unpleasant

(C) Mildly sincere       (D) Most pleasant

179. Battered

(A) Destroyed (B) Dashed on

(C) Struck hard (D) Struck off

180. Judicious

(A) Biased (B) Sensible

(C) Exact (D) Honest

Directions: in questions no. 181 to 185
choose the word opposite in meaning to the
given word and mark it in the answer sheet.

181. Asceticism

(A) Comfort (B) Luxury

(C) Anti-semitism (D) Humility

182. Embark upon

(A) Launch (B) Analyse

(C) Break off (D) Conclude

183. Ham-fisted

(A) Simple (B) Adroit

(C) Difficult (D) Vague

184. Strife

(A) War (B) Peace

(C) Anger (D) Woe

185. Vituperative

(A) Joyous (B) Laudatory

(C) Critical (D) Virtuous

Directions : In questions 186 to 190, four
alternatives are given for the idiom/ phrase
underlined in the sentence. Choose the
alternative which best expresses the meaning

of the idiom/phrase and mark it in the Answer
Sheet.

186. To eke out

(A) to subtract

(B) to supplement

(C) to etch

(D)to oust

187. To be in the doldrums

(A) to be in low spirits

(B)  to be within doors

(C) to praise loudly

(D)  to be in a crisis

188. Judas’ kiss

(A) wooing

(B) a narrow escape

(C) hypocritical affection

(D) a religious person

189. To have no truck with

(A) have no means of conveyance

(B) scientifically backward

(C) to have no trade with

(D) to have no dealings with

190. To clean the Augean stables

(A) to purge/ clean the administration of
its abuses

(B) to buy horses

(C) to sell horses

(D) to improve working conditions

Directions (191-200): In the following
passage, some of the words have been left out.
First read the passage over and try to
understand what it is about. Then fill in the
blanks with the help of the alternatives given.
Mark your answer in the Answer-Sheet.

Most of the employees had no ...191... in the oil
industry. Employees were paid a ...192... salary
but they were loyal and hard working. They often
worked without break. They once worked...193...
72 hours to discharge oil from a Russian tanker.
...194... made the difference was the support they
...195...from their bosses. On ...196... occasions ,
the barriers between the boss and sub-ordinates
vanished. We all worked like a team and   ...197...
unexpected results. The air force
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...198...presented a letter of...199... to the
company for the work done by us. Thus these
determined  ...200... poorly paid, employees have
built the company what it is today.

191. (A) practise (B) contact

(C) knowledge (D) experience

192. (A) minor (B)  low

(C) less (D) meagre

193. (A) continuously (B) fully

(C) running (D) near

194. (A) which (B) there

(C) what (D) there

195. (A) showed (B) taken

(C) wanted (D) received

196. (A) any (B) many

(C) couple (D) regularly

197. (A) achieve (B) seen

(C) given (D) produced

198. (A) was (B) yet

(C) even (D) instead

199. (A) complement (B) thank

(C) appreciation (D) reward

200. (A) though (B) not

(C) enough (D) inspite
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